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Effects of Join Order IAI=|BI=

Jens Dittrich
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Plan 1:QIeJeR{=\/=1B[ellg] has to process 1,000 + 100,000 tuples.
Plan 2:@IeJeREVEIR(e1la] has to process 100 + 1,000 tuples.
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Cost-Based Optimization: Overall Idea

enumerate set of all plan alternatives
estimate costs of each plan
pick plan with lowest estimated costs

done!



Search Space for Left-Deep Trees
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Not a Left-Deep Plan




Search Space for Bushy Trees
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Search Space for Bushy Trees
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Search Space for Bushy Trees
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Catalan Numbers

Co=1land C,; = ZCan_f forn >0
i=0
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'C2+C1'C1+C2*C{)=2+1+2=5

cC3+C1-Cr+Cr-Ci+C3:Cop=5+2+2+5=14
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Search Space for Bushy Trees with 5 Input Relations




Search Space for Bushy Trees with 3 Input Relations
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And the Difference is? Al=|B|=|C|=1,000
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